
TV MOUNTING PLATE
QTY. 1 ALLEN KEY PHILLIPS HEAD SCREW 

DRIVER
(NOT INCLUDED)

4X
SOCKET HEAD SCREW

4X
LOCK WASHER

HANG BAR-1
QTY. 2

HANG BAR-2
QTY. 2

4X
WASHER

INCLUDED HARDWARE (FOR HANG BAR ASSEMBLY)TV MOUNT FOR PIPE SYSTEM FOR 
50" DISPLAY MAXIMUM
ITEM # PSFSTV-F

TOOLS REQUIRED

PSFSTV-F-INSTRUCTIONS
SHEET 1 OF 8

PSFSTV-F-INSTRUCTIONS



REAR MOUNT ON ON PSFS96 MOUNT ON PSORFRONT MOUNT ON ON PSFS96

DETERMINE WHICH ASSEMBLY YOU REQUIRE
NOTE: MAX DISPLAY SIZE IS 50"

PSFSTV-F-INSTRUCTIONS
SHEET 2 OF 8

PSFSTV-F-INSTRUCTIONS



HANG BAR-1

HANG BAR-2

LOCK WASHER

SOCKET HEAD 
SCREW

FLAT WASHER

COUNT 
9 SLOTS

1 
INSERT HANG BAR-2 INTO HANG BAR-1

SECURE WITH HARDWARE AS SHOWN
2x

2x

2
HANG BAR ASSEMBLIES ONTO PIPE FIXTURE 9 SLOTS APART.

1A

1B

HANG BAR ASSEMBLY

PSFSTV-F-INSTRUCTIONS
SHEET 3 OF 8

PSFSTV-F-INSTRUCTIONS



AA

FLAT BACK

CC

CURVED BACK

BB

INSET HOLES

FLAT BACK INSET HOLES

CURVED BACK

1
IDENTIFY THE TYPE OF TV BACKING.

NOTE:
TV MOUNTING 
PLATE FITS VESA 
PATTERN SIZES:
100 X 100
200 X 200
300 X 300

DETERMINE HARDWARE TO 
SECURE MOUNTING PLATE TO T.V.

PSFSTV-F-INSTRUCTIONS
SHEET 4 OF 8

PSFSTV-F-INSTRUCTIONS



FLAT BACK

M4 M5 M6 M8

M4/M5 WASHER
M6/M8 WASHER

PLASTIC SPACER

mm
cm

DETERMINE HARDWARE TO 
SECURE MOUNTING PLATE TO T.V.
2
TEST HARDWARE SIZES AND LENGTHS FROM WHAT 
IS INCLUDED IN THIS KIT.

TV MOUNT HARDWARE VESA PATTERN QTY.

M4 X 12mm SCREW 100 x 100 4

M4 X 35mm SCREW 100 x 100 4

M5 x 12mm SCREW 200 x 200 4

M5 x 35mm SCREW 200 x 200 4

M4/M5 WASHER 100 x 100 4

M6 X 12MM SCREW 200 x 200 4

M6 x 35mm  SCREW 200 x 200 4

M8 x 16mm SCREW 300 x 300 4

M8 x 20mm SCREW 300 x 300 4

M8 X 35mm SCREW 300 x 300 4

M6/8 WASHER 200 x 200/
300 X 300 4

PLASTIC SPACER 4

PSFSTV-F-INSTRUCTIONS
SHEET 5 OF 8

PSFSTV-F-INSTRUCTIONS



AFAF

3B 
FOR CURVED AND INSET HOLE TV's

SHORTER 
SCREWS

AGAG

CORRECT LENGTH

CURVED TV: GO TO STEP 3B

FLAT BACK TV: GO TO STEP 3A

AHAH

3B 
FOR CURVED AND INSET HOLE TV's

INSET HOLES: GO TO STEP 3B

LONGEST 
SCREW

WASHER

SPACER

MOUNTING 
PLATE

LONG 
SCREW

WASHER

SPACER

MOUNTING 
PLATE

SHORT 
SCREW

WASHER

MOUNTING 
PLATE

SELECT CORRECT SCREW 
SIZE FROM TV MOUNTING 
HARDWARE BAG. SELECT 
THE LONGEST SCREW 
LENGTH THAT WILL FIT AND 
TIGHTEN TV BRACKETS 
AGAINST TV.

IF SCREWS ARE TOO SHORT 
THEY WILL NOT THREAD INTO 
THE HOLES ON THE TV.

IF SCREWS ARE TOO LONG, 
TV BRACKETS WILL NOT 
TIGHTEN AGAINST TV.

3
DETERMINE IF SPACERS ARE NEEDED

IT IS POSSIBLE THAT NO 
COMBINATIONS OF THE 
PROVIDED HARDWARE WORK 
FOR YOUR TV BRAND.

IF THIS IS THE CASE, PLEASE 
CONTACT THE 
MANUFACTURER OF THIS 
MOUNTING KIT FOR 
ASSISTANCE.

DETERMINE HARDWARE TO 
SECURE MOUNTING PLATE TO T.V.

PSFSTV-F-INSTRUCTIONS
SHEET 6 OF 8

PSFSTV-F-INSTRUCTIONS



2
FOR TV's THAT REQUIRE SPACERS

PLASTIC SPACER

LONGER 
SCREWS

WASHER

SHORTER 
SCREWS

WASHER

1 
FOR TV's THAT DO NOT REQUIRE SPACERS

SECURE MOUNTING PLATE TO T.V.

PSFSTV-F-INSTRUCTIONS
SHEET 7 OF 8

PSFSTV-F-INSTRUCTIONS



Y

Y

AC

AC

BOTTOM BRACKET

HANG T.V. ON HANG BARS

PSFSTV-F-INSTRUCTIONS
SHEET 8 OF 8

PSFSTV-F-INSTRUCTIONS


	EXP
	Drawing View8
	Drawing View90
	Drawing View91
	Drawing View103
	Drawing View105
	Drawing View136
	Drawing View137
	Drawing View146

	2
	Drawing View99
	Drawing View100
	Drawing View138

	4A
	Drawing View139
	Drawing View140
	Drawing View141
	Drawing View142
	Detail View AD (2 : 5)
	Drawing View169
	Drawing View170
	Detail View AT (1 : 5)

	1(2)
	Drawing View172
	Drawing View174
	Drawing View176
	Section View A-A
	Section View B-B
	Section View C-C
	Detail View AR (1 : 3)
	Drawing View179
	Drawing View180
	Drawing View181

	1
	Drawing View65
	Drawing View182
	Drawing View185
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View191
	Drawing View192

	3
	Drawing View61
	Drawing View62
	Detail View R (1 : 4)
	Drawing View74
	Drawing View132
	Section View AF-AF
	Section View AG-AG
	Drawing View157
	Section View AH-AH
	Detail View AJ (1 : 2)
	Detail View AK (1 : 2)
	Detail View AL (1 : 2)

	3(2)
	Drawing View148
	Drawing View150
	Detail View P (1 : 3)
	Detail View R (1 : 3)
	Drawing View153

	7
	Drawing View124
	Section View Y-Y
	Drawing View127
	Section View AC-AC
	Drawing View147


